N3nut no "OcHoBU Ha nporpamupaHeTo”

3apaua 4. butkata Ha BeAUKAEHCKuTe Anua

Ha BennkaeH cemeicTBoTo Ha [ecu ce cbbupa 1 TA peluasa 4a opraHmaunpa "o6utka" mexkay BeIMKAEHCKM alLa.

MpaBunaTta Ha "6uTkaTa" ca cnegHuTe:

e YyacTBaT ABama uUrpadu
e BceKu OoT TAX 3ano4Ba c onpeaeneH bpoii aliua

e [pu nonyyaBaHe Ha KOMaHAa "one" -> NbPBUAT Urpay Nnevenun => aiiuarta Ha BTOPUA HAMaNABaAT C e4HO
e [lpu nonyyaBaHe Ha KOmaHAa "two" -> BTOpMAT Urpau neyenu => Aiilata Ha NbpPBUA HAMANABAT C e4HO
e Urpata npuKniouBa, ako HAKOI OT UrpaunTe octaHe 6e3 AL UK 4o noayyasaHe Ha KomaHga " End"

Bxopa

MbpBOHAYanHoO ce YyeTaT ABa peaa:

1. Bpoii aiLa, KOUTO MMa NbPBUAT Urpad - LAI0 YACIO0 B MHTepBana [1... 99]
2. bpoit aiiua, KOUTO MMa BTOPUAT Urpau - LAJ10 YACNO B MHTepBana [1 ... 99]

Cnepn ToBa Ao nonyyaBaHe Ha KomaHaa "End" ce yueTe MHOroKkpaTHO eguH pea;:
3. Nobeauten - TeKct - "one" uam "two"

nU3xop

AKO NbpBUAT Urpay ocTaHe 6e3 anua:

e "Player one is out of eggs. Player two has {6poit ocTaHanm
eggs left."

AKO BTOpPUAT Urpay octaHe 6e3 aiua:

e "Player two is out of eggs. Player one has {6poii ocTaHanm
eggs left.”

Mpu komaHga "End" pa ce oTneuarar gBa pepga:
e "Player one has {6poi ocTaHanu fAilua Ha NbpBUA Urpa4v} eggs
e "Player two has {6poi ocTaHanu fAila Ha BTOpUA Urpav} eggs

MpumepeH Bxopa, U nsxoa

Allla Ha BTOpMA Urpad}

Aliua Ha NbpBUA Urpad}

left."
left."

Bxog, U3xop, 06sacHeHun

5 Player one has 2 eggs left. Urpau 1 uma 5 aitya. Urpay 2 uma 4 aiua.

4 Player two has 2 eggs left.

one MonyyaBame one -> [MbpBUAT Neyenn, a AiMLaTa Ha
two BTOpMA OCTaBaT 4—1=3

one MonyyaBame two -> BTopuAT neyenu, a Aluarta Ha
two nbpBuMA ocTaBat 5—1=4

E‘:}’g MonyyaBame one -> MbpBUAT Nevenu, a aiuaTa Ha

BTOpUA OCTaBat 3—1=2
MNonyyasame two -
nbpBMa ocTtaBaT4—1=3
MNonyyasame two -
nbpemAa ocTtagaT 3—1=2

> BropuAaTt neyenwu, a saiuaTa Ha

> BTopuaT nevyenu, a aiuaTa Ha

Kpaii Ha 6uTKaTta => MbpBuaT Urpay uma 2 aiua.
BTopuAT urpad uma 2 aiua.

N

6 two has 5 eggs left.

Player one is out of eggs. Player |Wrpaulwuma 2 situa. Urpau 2 uma 6 aiua.
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one MonyyaBame one -> MbpBUAT Nevenu, a anuaTa Ha
two BTOpMA OCTaBaT 6—1=>5
two MonyyaBame two -> BropuAat neyenu, a siiuaTa Ha
nbpBuA ocTtagat 2—1=1
MonyyaBame two -> BTopuAT neyenu, a AluaTta Ha
nbpeuAa octasat 1-1=0
Kpait Ha 6uTKata => MbpBUAT Urpad octasa 6e3
anya. Bropuart urpad uma 5 anua.
6 Player two is out of eggs. Player |Wrpaulwuma 6 situa. Urpau 2 uma 3 aiua.
3 one has 4 eggs left.
one MonyyaBame one -> [MbpBUAT Neyenn, a AlLaTa Ha
two BTOpMA OcTaBat 3—1=2
two MonyyaBame two -> BTopuAT neyenu, a anuarta Ha
one NbpBUA ocTaBaT 6—1=5
one

MonyyaBame two -> BTropuAT neyenu, a anuaTa Ha
nbpBmAa octagat5—1=4
Monyyasame one -> [MbpBUAT NeYvenm, a ANLATA HA
BTOpMA OcTagaTt2—1=1
MonyyaBame one -> MbpBUAT NeYvenn, a ANLaTa Ha
BTopuAa ocragat 1—1=0

Kpait Ha 6uTKaTa => BropmaT urpauy ocrasa 6e3
anua. MbperAT Urpady uma 4 aiua.

JS - MpumepeH Bxoa u n3xon,

Bxop U3xop, 06sAcHeHus
(["s", Player one has 2 eggs left. WUrpau 1 uma 5 aiua. Urpau 2 uma 4 aiuya.
"4, Player two has 2 eggs left.
"one", MonyyaBame one -> MbPBUAT Neyenn, a AiLaTa Ha
"two", BTOpMUA OCTaBaT 4—1=3
::one:: > Monyyasame two -> BTopuaT neyenu, a aiuara Ha
"two" > nbpeuA ocTaBaTt 5— 1= 4
"two 2 MonyyaBame one -> [TbpBMAT Nevenu, a AnLaTa Ha
End "]) BTOpUA OCTaBat 3—1=2
Monyuyasame two -> BTopuaT neyenwu, a anuarta Ha
nbpBuA octaBat4—1=3
MNMonyyaBame two -> BropuAat neyenu, a siuaTa Ha
nbpBMAa ocTaBaT3—1=2
Kpait Ha 6uTKaTa => MbpBUAT Urpauy uma 2 auua.
BropuaT urpady uma 2 aiua.
(L2, Player one is out of eggs. Player |Wrpauluma 2 aiua. Urpau 2 uma 6 aiiua.
"6", two has 5 eggs left.
"one", MonyyaBame one -> MbPBUAT NeYenu, a AiLaTa Ha
"two", BTOpMA OCcTaBaT 6—1=>5
"two "]) MonyyaBame two -> BTopuAT neyenu, a aiuara Ha

nbpBmMaocTtagaTt2—1=1
MonyyaBame two -> Bropmat nevenu, a aiiuarta Ha
nbpBua octasat 1-1=0
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Kpait Ha 6uTKata => MbpBUAT Urpad octasa 6e3
anua. Bropuart urpay uma 5 anua.

(["6",
nym
"one",
"two",
"two",
"one",
"one"])

Player two is out of eggs. Player
one has 4 eggs left.

Urpau 1 uma 6 aiiya. Urpau 2 uma 3 aiua.

MonyyaBame one -> [bpBUAT Neyenn, a AlMLaTa Ha
BTOPMA OCTaBaT3—1=2
MonyyaBame two -> BropuAat neyenwu, a saiuaTa Ha
nbpBMA ocTtaBaT6—1=>5
MonyyaBame two -> Bropuat nevenu, a aiuarta Ha
nbpBmMa octagat5—1=4
MonyyaBame one -> [MbpBUAT Neyenn, a AiMLaTa Ha
BTOpMA OCcTagaT2—1=1
MonyyaBame one -> [MbpBUAT NeYyenn, a ANLaTa Ha
BTopuAa ocragat 1—1=0

Kpait Ha 6uTKaTa => BropmaT urpauy ocrasa 6es
anua. MbperAT Urpady uma 4 aiua.
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